
10-5007-01B

REAR HIGHWAY BAR,  BLACK

PARTS INCLUDED

Ref. Part Number Description Qty

1) 00-100-02223 Right Side Highway Bar, Black 1
2) 00-100-02224 Left Side Highway Bar, Black 1
3) 01-10061614-27 3/8-16x1-3/4” Hex Head Bolt 2
4) 01-4006-27 3/8” Flat Washer 2
5) 01-4206-27 3/8” Lock Washer 2
6) 01-1082018-5-27 1/2-20x2-1/4” Hex Head Bolt 2
7) 01-1082016-5-27 1/2-20x2.00” Hex Head Bolt 2
8) 01-300820-27 1/2-20 Nylock Hex Nut 2

HARLEY-DAVIDSON 
FLST, FXST, FXSTS  1986-99

E :  J a r d i n e @ S u p e r T r a p p . c o m                            T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0
 

0
8

-5
0

-4
8
1
0
6

R
E

V
. 

A



10-5007-01B

REAR HIGHWAY BAR,  BLACK

HARLEY-DAVIDSON 
FLST, FXST, FXSTS  1986-99

INSTALLATION INSTRUCTIONS

INSTALLATION

1) Remove any accessories from the motorcycle that may get in the way of installation.  Including 
passenger footpegs/ boards and saddlebag.

2) Remove nut, flat washer, seat strap bracket (if equipped), and bolt from rear fender - this will 
serve as upper mounting point of the highway bar.  Do not retain bolt.

3) Place the supplied 3/8”-16X1-3/4” hex head bolt and 3/8” lock washer to the rear fender support 
hole.  Install highway bar top mounting bracket over the end of the bolt to the fender support.  
Install the original seat strap bracket (if equipped), washer and nut onto bolt. Finger tighten at this
time. 

4) Position bottom mounting bracket of the highway bar against inside surface of motorcycle frame 
where passenger footpeg / board mount attaches. if you are using a saddlebag relocation kit, it 
should be positioned between the highway bar bottom bracket and motorcycle frame.  Check 
installation instructions with that particular kit. 

5) Please determine installation procedure to follow:

Models with passenger footpeg, but no saddlebag relocation bracket:

Install the supplied 1/2”-20X2.00” hex head bolt and the stock split lock washer through holes in 
the highway bar bottom bracket (if equipped).  Install passenger footpeg to the end of the bolt 
and tighten.  Discard remaining original hardware.

E :  J a r d i n e @ S u p e r T r a p p . c o m                         T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0

Ref. Description

1) 3/8” Drive Ratchet
2) 9/16” Socket

Ref. Description

3) Torque Wrench
4) 9/16” Wrench

TOOLS REQUIRED

WARNING:  THIS HIGHWAY BAR IS FOR APPEARANCE ONLY. IT IS NOT MEANT TO
PROTECT EITHER RIDER, PASSENGER OR MOTORCYCLE AT ANY TIME.



10-5007-01B

REAR HIGHWAY BAR,  BLACK

HARLEY-DAVIDSON 
FLST, FXST, FXSTS  1986-99

Models with passenger footpeg and saddlebag relocation bracket:

Install the supplied 1/2”-20X2-1/4” hex head bolt and the stock split lock washer through holes in 
the highway bar bottom bracket, saddlebag relocation bracket, motorcycle frame, and tool box 
bracket (if your bike is equipped with it).   Install passenger footpeg to the end of the bolt 
and finger tighten.  If not already connected, attach loose end of saddlebag support with the 
fastener from the relocation bracket kit.  tighten footpeg.  Discard the remaining original 
hardware.

Models with passenger footboard:

Install passenger footboard mount through holes in tool box bracket (if equipped), motorcycle 
frame, saddlebag relocation bracket and highway bar bottom bracket.  install the 1/2-20 nylock 
hex nut. and finger tighten to the end of mount.  Do not use original mounting nut.  Attach the 
loose end of the saddlebag relocation bracket to the lower front leg of the saddlebag support 
with the fasteners from the relocation bracket kit.  Tighten the nylock nut on the footboard.  install
footboard assembly to th footboard mount.  Discard remaining original hardware.

6) Tighten nut that secures highway bar top bracket.

7) Install saddlebag (if equipped) to the motorcycle.

8) Repeat steps for installation of the opposite side.

9) Tighten all hardware to factory specs.

E :  J a r d i n e @ S u p e r T r a p p . c o m                           T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0



Jardine Performance Products is manufactured by SuperTrapp Industries, Inc. in Cleveland, OH.  Our exhausts, 
highway bars, backrests, fender kits & accessories for V-Twin, Metric, Sport & Dirt applications are made in the 
U.S.A. Jardine  has been manufacturing  performance   products since 1959.   

Terms & Conditions 

Returns:  All requests for product returns must be made within 30 days from date of purchase.  The return has to 
have a Return Material Authorization (RMA) number from Jardine and must include a copy of the original purchase 
invoice.  Customer pays for the return freight and Jardine will exchange product or process a credit to your account. 
All returns must be in the original packaging to be eligible for any credit or exchange.  Any return sent C.O.D. will 
not be accepted.  Special order sales are final and may not be returned. 

All warranty claims must be made through your point of purchase.    

Limited Warranty:  Jardine’s warranty extends to the original purchaser only and a copy of the sales receipt must 
be provided.  Keep your receipts.  Jardine products are warranted against defective materials and workmanship for 
a period of 1 year from date of   original customer purchase and to the original customer only.  Proof or purchase is 
required.  Any non-defective, unopened, unused, not installed item may be returned within seven working days of 
receipt and will be subject to a 15% restocking / repackaging fee.  Bluing and / or discoloration of chrome exhaust 
systems / products are not covered. Contact the Jardine Customer Service Department directly at 216-265-8400 to 
obtain a Return Material Authorization (RMA) number prior to return of product. Authorized product will be repaired 
or returned at Jardine’s discretion. Jardine is not responsible for any other expenses, including labor for removal of 
defective parts incurred by the customer under the terms of this warranty.  Nor shall Jardine be responsible for any 
damages whether consequential, special, contingent or otherwise, or expenses or injury arising from the use of 
Jardine products.  A detailed copy of Sale Terms, Conditions and Warranty information is available at request. 

Jardine and Jardine Performance Products are registered trademarks of SuperTrapp Industries, Inc. and may not 
be used without consent from SuperTrapp Industries, Inc.  SuperTrapp Industries, Inc. retains all marketing rights to 
its products and trademarks.   

E: Jardine@SuperTrapp.com                              www.JardineProducts.com                             TECH: (216) 265‐8400            

REV: A    9‐12‐13 




